ORDER OF MATH OPERATIONS WITH NUMBERS -100 TO 100 (E-3) Name:
CHALLENGE

Time:

249)

(182 9) x 5+ (284 (—=33) =50 =5 x 2 x 0 x (—4))) =

250)

(18 = (=2) — 56 — 4 x 5 — (7 x 0) = ((66 + (—50)) — 39)) =

251)

(6x0+(=3))) +(=3)9) = (19 = (=533)) +9)) =3 x (=6) + (—4) =

252)

(4> (=1)+0))) =9 x0—(32+30) + (9 x (=4) = (=0)))) =

253)

(((0+=5)+=(—=34)) x (81 +(—34) = 73) = (6 x (—3)) x (6 x (—=10))) =

254)

3224 x (((56 = (=8) + 7)) — (0 x 9) — ((69 — 59 + (—30))) =

255)

73— (=15)+(((0 x (=5) = (=34)))) x (10 X (=5) + 93 + (—50))+(—41) =

256)

((99 4 (—100)) — 31) x 16 = (—=8) = (T+ (=5)) + 7 — 16 + 49 =

Mathematics: Order of Operations - Level 5 - Expressions - Set 3 33 ® workulum.com


https://www.workulum.com

